



### Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

#### **PURCHASE REQUEST**

Dept./Office: GSD

PR #: GF -2020-10-00665 /0846

Date: 10-16-2020

Section/End-User: Mario C. Bantugan

Category: Construction and Electrical Supplies

Funding Source: General Fund - CO

Project Title/Code: PPO-2021-01

Specification:  Floor Tiles  2 Acrylic Solvent-based Putty gallons 40 530.00 27  Specification:  for correction of minor surface imperfections  3 Blind Rivets, 1/8" x1/2" boxes 12 600.00 7  Carrying Channel, 12mm x 38mm pieces 120 155.00 145		Unit Cost PAR/ICS	Un	Qty	Unit	Item Description	Item #
Floor Tiles  2 Acrylic Solvent-based Putty gallons 40 530.00 2  Specification:  for correction of minor surface imperfections  3 Blind Rivets, 1/8" x1/2" boxes 12 600.00 7  Carrying Channel, 12mm x 38mm pieces 120 155.00 155.00	840,000.00	210.00		4000	pcs	0.60m x 0.60m Floor Tiles - White	-
Specification:  for correction of minor surface imperfections  3 Blind Rivets, 1/8" x1/2" boxes 12 600.00  4 Carrying Channel, 12mm x 38mm pieces 120 155.00							
for correction of minor surface imperfections  3 Blind Rivets, 1/8" x1/2" boxes 12 600.00  4 Carrying Channel, 12mm x 38mm pieces 120 155.00	21,200.00	530.00	T	40	gallons	Acrylic Solvent-based Putty	2
	7,200.00	600.00		12	boxes	Blind Rivets, 1/8" x1/2"	3
Carrying Channel, 12mm x 38mm					tions	for correction of minor surface imperfec	
4   F 4 0 0 (41:4)   DIGCES   120   130.00		155.00		120	pieces	Carrying Channel, 12mm x 38mm	4
x 5 meters, 0.8mm (tnickness)	18,600.00						
5   Double Furring, 19mm x 50mm x   pieces   450   150.00   67	18,600.00						
6 Emergency Light, 2 x 3 Watts pcs 50 2,500.00 125	18,600.00 67,500.00	150.00		450	pieces	Double Furring, 19mm x 50mm x 5m, 0.40mm (thickness)	5
Specification:						5m, 0.40mm (thickness)	

- Automatic Operation (turns on instantly when power is cut-off)
- · Equipped with Overcharging protection
- · Fuse protected
- · Illuminates areas more than 1 lux
- Light Source: 2x1W High Power SMT LED
- Battery: 4V 4.0Ah Sealed Lead Acid
- · Charging Time: <20 hours
- · Performance Time: ?6 hours (at full charge)

	Exhaust Fan, 405 mm diameter, 220 volts	unit	40	2,500.00	100,000.00
--	---	------	----	----------	------------

	Specification:				
	Durable				
	Heavy duty				
	Good quality				
8	Fiber Cement (FiCem), Screw, #7(3.5mm) x 1"	pcs	30000	1.00	30,000.0
9	Fire Extinguisher, Dry Chemical (ABC), 10lbs	unit	45	3,000.00	135,000.0
	ISO Certified     Dry Chemical recommended for     Non Toxic     Non Conducting and Non Corro				
10	Fluorescent Tube, 36 watts with starter strip type	pcs	150	250.00	37,500.0
11	Fluorescent Tube, 36 watts, daylight, pre-heat	pcs	250	100.00	25,000.0
12	Lumber, 2" x 6" x 12"	pcs	150	900.00	135,000.0
3	Orbit Fan, 405 mm diameter, 220 volts Specification:	unit	75	2,500.00	187,500.0
13	Orbit Fan, 405 mm diameter, 220 volts		75	2,500.00	187,500.0
	Orbit Fan, 405 mm diameter, 220 volts  Specification:  Durable High performance mote 4-speed remote switch With thermal fuse protection	or .			187,500.0
	Orbit Fan, 405 mm diameter, 220 volts  Specification:  Durable High performance mote 4-speed remote switch With thermal fuse protection		75	2,500.00	
	Orbit Fan, 405 mm diameter, 220 volts  Specification:  Durable High performance mote 4-speed remote switch With thermal fuse protection	or .			
14	Orbit Fan, 405 mm diameter, 220 volts  Specification:  Durable High performance mote 4-speed remote switch With thermal fuse protection  Paint Brush, 2"  Specification:  Durable bristles	or .			1,600.0
13	Orbit Fan, 405 mm diameter, 220 volts  Specification:  Durable High performance mote 4-speed remote switch With thermal fuse protection  Paint Brush, 2" Specification: Durable bristles Heavy duty metal ferrules  Pipe Fittings, (G.I.) Elbow 90° x	pcs	20	80.00	1,600.0

17	Pipe Fittings, (G.I.) Nipple, 1/2"Ø x 2" Length	pcs	85	22.00	1,870.00
	Specification:				
	Schedule 60, Good quality				
18	Pipe Fittings, (G.I.) Reducer Bushing 1"Ø x 1/2"Ø	pcs	94	80.00	7,520.00
	Specification:				
	Schedule 60, Good quality				
19	Pipe Fittings, (G.I.) Reducer Bushing 3/4"Ø x 1/2"Ø	pcs	84	68.00	5,712.00
	Specification:				
	Schedule 60, Good quality				
20	Pipe Fittings, (G.I.) Tee 1/2"Ø x 1/2"Ø	pcs	85	45.00	3,825.00
	Specification:				
	Schedule 60, Good Quality				
21	Pipe Fittings, (G.I.), Coupling 1"Ø	pcs	20	75.00	1,500.00
	Specification:				
	Schedule 60, Good quality				
22	Pipe Fittings, (G.I.), Nipple, 3/4"Ø x 2" Length	pcs	80	30.00	2,400.00
	Specification:				
	Schedule 60, Good Quality				
	Pipe Fittings, (G.I.), Elbow 90° x 3/4"Ø	pcs	75	60.00	4,500.00
23	Specification:				
23					
23	Schedule 60, Good quality				
	Pine Fittings (G.I.) Straight Elbow	pcs	30	88.00	2,640.00
	Pipe Fittings, (G.I.), Straight Elbow	pcs	30	88.00	2,640.00
	Pipe Fittings, (G.I.), Straight Elbow	pcs	30	88.00	2,640.00
24	Pipe Fittings, (G.I.), Straight Elbow 1"Ø Specification: Schedule 60, Good quality	pcs	30	95.00	2,640.00 3,325.00

26	Pipe Fittings, (G.I.), Union 1/2"Ø	pcs	100	55.00	5,500.00
	Specification:				
	Schedule 60, Good quality				
27	Pipe Fittings, (G.I.), Union, 3/4"Ø	pcs	70	80.00	5,600.00
	Specification:				
	Schedule 60, Good quality				
28	Pipe Fittings, (P.E.) Tee,1"Ø x 1"Ø	pcs	94	280.00	26,320.00
29	Pipe Fittings, (PPR) Ball Valve, 1"Ø	pcs	94	200.00	18,800.00
30	Pipe Fittings, (PPR) Coupling, 1"Ø	pcs	50	40.00	2,000.00
31	Pipe Fittings, (PPR) Elbow, 90deg x 1"Ø	pcs	100	60.00	6,000.00
32	Pipe Fittings, (PPR) Female Union Patente Threaded, 1"Ø	pcs	85	800.00	68,000.00
33	Pipe Fittings, (PPR) Male Threaded Adapter, 1"Ø	pcs	80	450.00	36,000.00
34	Pipe Fittings, (PPR) Male Threaded Plug, 3/4"Ø	pcs	50	30.00	1,500.00
35	Pipe Fittings, (PPR) Male Threaded Plug,1"Ø	pcs	40	40.00	1,600.00
36	Pipe Fittings, (PPR) Male Threaded Plug,1/2"Ø	pcs	75	20.00	1,500.00
37	Pipe Fittings,(G.I.), Reducer Bushing 1"Ø x 3/4"Ø	pcs	74	82.00	6,068.00
	Specification:				
	Schedule 60, Good quality				
38	Pipe Fittngs, (G.I.) Elbow, 90 x 1"Ø	pcs	60	75.00	4,500.00
	Specification:				
	Schedule 60, Good quality				
39	Pipe, (PPR) ,1"Ø x 4m.	length	94	585.00	54,990.00
10	Pipe, (G.I.), 1"Ø x 20"	length	20	685.00	13,700.00
	Specification:				
	Schedule 60, Good quality				
11	Pipe, (G.I.), 1/2"Ø x 20"	length	50	450.00	22,500.00
	Specification:	Takar			
	Schedule 60, Good quality				
12	Pipe, (G.I.), 3/4"Ø x 20"	length	65	555.00	36.075.00
-	ייין וייין וייין וייין וייין וייין וייין וייין וייין וייין	iongui	00	333.00	36,075.00

	Specification:				
	Schedule 60, Good quality				
43	Pipe, (P.E.), 1"Ø, SDR-11 black	rolls	11	4,450.00	48,950.0
44	Screened Sand	cu.m.	45	1,500.00	67,500.0
	Specification:				
45	Skim Coat, 20kg/bag	bag	60	550.00	33,000.0
	Good water vapor permeability     Excellent bonding to concrete				
46	Stair nosing (Brass), 1 1/2" x 20'(6m)	pcs	8	4,000.00	32,000.0
	20 (om) Specification:				
	Extruding Stair Edge Protection				
47	Stand Fan, 405 mm diameter, 220 volts	unit	20	2,500.00	50,000.0
47	Stand Fan, 405 mm diameter, 220		20	2,500.00	50,000.00
47	Stand Fan, 405 mm diameter, 220 volts  Specification:  Durable High-performance moters of the second	or	20		
	Stand Fan, 405 mm diameter, 220 volts  Specification:  Durable High-performance mot 3-speed push button switch Thermal fuse protection Oscillation			350.00 12,000.00	147,700.00
48	Stand Fan, 405 mm diameter, 220 volts  Specification:  Durable High-performance moters of 3-speed push button switch of Thermal fuse protection of Oscillation of With height adjustment  Tile Adhesive, 25kg/bag	bags	422	350.00	147,700.00 72,000.00
48	Stand Fan, 405 mm diameter, 220 volts  Specification:  Durable High-performance mot 3-speed push button switch Thermal fuse protection Oscillation With height adjustment  Tile Adhesive, 25kg/bag Urinal, Big, Good Quality W Clip for Double Furring,	bags set	422	350.00 12,000.00	147,700.00 72,000.00 4,200.00

Checked by: Funds Available: MYRNA S. PANCITO MARLON G. BURLAS TWG - Construction and Electrical Supplies HEAD, BUDGET OFFICE Requested by: Approved by: Noted by: on Mountain Mario C. Bantugan Signature: MARIO LINOP. VALENZONA EDGARDO E. TULIN Printed Name: UNIT HEAD, PROJECT LEADER Designation: **END USER** PRESIDENT, VSU





# Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

### **PURCHASE REQUEST**

Dept./Office: GSD

PR #: GF -2020-10-00676/132

Date: 10-16-2020

Section/End-User: Mario C. Bantugan

Category: Office Equipment

Funding Source: General Fund - CO

Project Title/Code: PPO-2021-01

Item #	1	tem Description	Unit	Qty	Unit Cost	PAR/I	CS Total Cost
1	Wall fan		рс	30	2,500.00		75,000.00
	• 16"	al blade metal blade e speed controller					
Pur	pose: Refur	TOTAL bishing of CME Building				75,000.00	
Che	cked by:	NORMAN O. VIL	LAS	Funds Available	Funds Available:  MYRNA 9. PANCITO		
		TWG - Office Equip	oment			HEAD, BUDG	GET OFFICE
Requested by: Signature: Printed Name: MARIO C. BANTUGAN				loted by:	ONLOP. VALENZON	1/200	pproved by:  EDGARDO E. TULINg.
Desig	gnation:	END USER		UNIT	EAD, PROJECT LEAD	ER	PRESIDENT, VSU





# Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

#### **PURCHASE REQUEST**

Dept./Office: GSD

PR#: GF -2020-10-00675/1322

Date: 10-16-2020

Section/End-User: Mario C. Bantugan

Category: Hardwares

Funding Source: General Fund - CO

Project Title/Code: PPO-2021-01

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost			
1	Abrasive Paper, Sandpaper, #150	sheet	200	80.00		16,000.00			
	Specification: Fine, Premium Grade, Waterproof								
2	Angle Bar, 1/4"(thickness) x 1-1/2" x 1-1/2" x 20', standard	length	40	350.00		14,000.00			
	Specification: Premium Grade								
3	Bulb, LED, 9W	piece	150	150.00		22,500.00			
4	Cement, Portland	bag	460	235.00		108,100.00			
	Specification: Type 1P, Premium Quality								
5	Door Knob	piece	30	1,000.00		30,000.00			
	Specification: Interior Type Cylindrical Door Knob Lock	kset, Good	Quality						
6	Fiber Reinforced Cement Board, Lightweight, 4' x 8'	sheet	250	450.00		112,500.00			
	Specification: Premium Quality								
7	Fluorescent Starter	piece	250	20.00		5,000.00			
	Specification: 40 watts								
8	Hinges, Loose Pin, 4"x4"	piece	20	250.00		5,000.00			
	Specification: Heavy Duty, Good Quality								
9	Nails, Common Wire, 1"	kl	20	45.00		900.00			
	Specification: Smooth Shank								
10	Nails, Common Wire, 4"	kl	50	55.00		2,750.00			
	Specification: Smooth Shank								
11	Nails, Concrete, 2"	kl	10	48.00		480.00			
	Specification: Fluted Shank								
12	Nails, Fiber Cement Board, 1"	kl	30	150.00		4,500.00			

	Specification: Heavy Duty, Good Quality								
13	Paint Brush, Roller with handle and PVC Tray, 9"	piece	15	56.00	840.0				
	Specification: Durable, Good Quality								
14	Paint, Acrytex Primer, White	gallon	15	685.00	10,275.0				
15	Paint, Flatwall Enamel, White	gallon	60	600.00	36,000.0				
	Specification: Premium Quality Paint								
16	Paint, Latex Flat Wall, White	gallon	70	400.00	28,000.0				
	Specification: Premium Quality Paint								
17	Paint, Latex, Semi Gloss, White	gallon	140	500.00	70,000.0				
ľ	Specification: Premium Quality Paint								
18	Paint, QDE, White	gallon	30	650.00	19,500.0				
	Specification: Premium Quality Paint								
19	Paint, Roof, White	gallon	200	420.00	84,000.0				
	Specification: Premium Quality Paint								
20	Paint, TTC, Raw Sienna, Latex	li	30	75.00	2,250.0				
	Specification: Premium Quality								
21	Paint, TTC, Thalo Blue, Latex	li	13	26.50	344.5				
	Specification: Premium Quality								
22	Paint, TTC, Thalo Green, Latex	li	13	26.50	344.5				
	Specification: Premium Quality								
23	Pipe Fittings, Gate Valve (Great Volume), 1"Ø	piece	30	1,500.00	45,000.0				
	Specification: Gradual On/Off Valve with Brass Body a	nd Gate,	Wheel Handle	and Nonrising Stem, C	lass 125, 1" NPT Female, Heavy Duty				
24	Pipe Fittings, Gate Valve(Great Volume), 1/2"Ø	piece	35	550.00	19,250.0				
	Specification:  Gradual On/Off Valve with Brass Body a	nd Gate,	Wheel Handle	and Nonrising Stem, Cl	lass 125, 1/2" NPT Female, Heavy Duty				
25	Pipe Fittings, Gate Valve(Great Volume), 3/4"Ø	piece	24	650.00	15,600.0				
Ī	Specification: Gradual On/Off Valve with Brass Body a	nd Gate.	Wheel Handle	and Nonrising Stem, C	lass 125, 3/4" NPT Female, Heavy Duty				
26	Plywood, Marine, 1/4"(thickness) x 4' x 8'	piece	100	423.00	42,300.0				
					the state of the s				

	Specificat Standard,	ion: Good Quality							
27	Plywood, Marine, 3/4"(thickness) x piece			100		1,200.00		120,000.00	
Specification: Standard, Good Quality									
28	28 Teflon Tape, 3/4"Ø x 10m roll			500		60.00		30,000.00	
	Specificat Good for	ion: sealing on pipe thread							
						845,434.00			
Pur	pose: Refu	rbishing of CME Building		eni it-liya-					
Che	Checked by:					Funds Available: Co MYRNA SI PANCITO			
		WG - Hardwares	S				HEAD, BU	DGET OFFICE	
	Requested by:  Signature:  Printed Name: MARIO C. BANTUGAN			Noted by:	MA CO	P. VALENZON	1200	Approved by:  LLYLL  EDGARDO E. TULIN	
Desi	gnation:	END USER		UNIT/H	HEAD, PE	ROJECT LEAD	ER	PRESIDENT, VSU	